
Time: 25 Minutes Paper Science 7 Total Marks: 25

1st Month, 4th Week, 6th Day Syllabus: Monthly test unit 1 + 2

Q.No.1 Encircle the correct answer from the following choices. (1×10=10)


i. The force between the molecules of water:  
(a) Adhesive force  

 (b) Cohesive force  


(c) Repulsive force   (d) Magnetic force  






ii. The innermost layer of cortex in the root: 
(a) Epidermis  (b) Endodermis 
(c) Pericycle  (d) Cambium 

iii. During night time, plants absorb: 
(a) Carbon monoxide  (b) Carbon dioxide 
(c) Oxygen  (d) Hydrogen 
iv. Deficiency of ____ makes the leaves yellow.  
(a) Nitrogen  (b) Hydrogen  (c) Sodium  (d) Carbon 
v. Chlorophyll absorbs which light? 
(a) Yellow  (b) Green  (c) Red   (d) Black 
vi. One gram glucose produces about ____ calories of energy.

  
(a) 3500 (b) 3600 (c) 3700 (d) 3800

vii. How many types of vessels in which blood circulates?


(a) 2 (b) 3 (c) 4 5

viii.Exchange of gases takes place in: 
(a) Lungs  (b) Bronchioles  


(c) Alveoli  (d) Blood 

ix. Aerobic respiration takes place in: 
(a) Mitochondria  (b) Chloroplasts 
(c) Nucleus 


 (d) Cell wall 

x. Trachea divides into two: 
(a) Bronchi  (b) Veins  (c) Villi  (d) Ribs 
Q.No.2. Write short answers. (2612) 
(i) Differentiate between arteries and veins. 
(ii) Write down the symptoms of pneumonia. 
(iii) What are biochemical reactions?  
(iv) What is secondary root? 
(v) Write the name of factors which affect the rate of transpiration.

 


(vi) What is the importance of respiration?  
Q.No.3. Write long answer. (3) 
(i) Explain factors on which photosynthesis process depend.










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